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1. Introduction

It was agreed that the network shall discard any message whose N(SD) is not incremented by one from the lastly received value.

This paper discusses the strategy taken by an MS in case T3230 (Awaiting CM Service Request procedure to complete) is expired.

2. Discussion

It is not a good idea to send the 2nd CM Service Request with incremented N(SD) value as depicted in Figure 1.  
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Figure 1

(Note this retransmission is not by protocol level but application level)

It is questioned that what strategy the MS should take after the T3230 expiration.

Alternative 1: Send the CM Service Request using same N(SD) value as lastly sent one guessing that previous message was lost before the network received
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Figure 2 - Alternative 1

Concern:
From the protocol’s point of view, there is no relationship between these two CM Service Request so that implementation may be tricky. 

Alternative 2: Send four CM Service Requests with incremented N(SD) value hoping only one of them is accepted by the network
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Figure 3 - Alternative 2

Concern:
It wastes radio resources. 

Alternative 3: Release and re-establish RRC connection to clear lastly received N(SD) value in the network
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Figure 4 - Alternative 3

Concern:
Background call (if exists) is released as well.

Alternative 4: Retry and Retry hoping next time is OK without knowing what is happening
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Figure 5 - Alternative 4

(Note this retransmission is not by protocol level but application level)

Concern:
User is put on hold so long.  (This case more than 40s)

3. Conclusion
If there is any misunderstanding, it is appreciated to let me know

.

ANNEX

Other problematic example is shown below.
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Figure 6 - Other example
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